
 𝐌𝐀𝐓𝐇𝐄𝐌𝐀𝐓𝐈𝐂𝐒                         𝟏.  𝐑𝐀𝐓𝐈𝐎𝐍𝐀𝐋 𝐀𝐍𝐃 𝐈𝐑𝐑𝐀𝐓𝐈𝐎𝐍𝐀𝐋 𝐍𝐔𝐌𝐁𝐄𝐑𝐒                      𝐒𝐓𝐃 −  𝐈𝐗 

 𝐑𝐀𝐓𝐈𝐎𝐍𝐀𝐋 𝐍𝐔𝐌𝐁𝐄𝐑𝐒 –  𝐓𝐡𝐞 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐨𝐟 𝐭𝐡𝐞 𝐟𝐨𝐫𝐦 
𝐚

𝐛
 , 𝐰𝐡𝐞𝐫𝐞 𝐚 𝐚𝐧𝐝 𝐛 𝐚𝐫𝐞 𝐢𝐧𝐭𝐞𝐠𝐞𝐫𝐬 𝐚𝐧𝐝 𝐛 ≠ 𝟎 

                          𝐚𝐫𝐞 𝐤𝐧𝐨𝐰𝐧  𝐚𝐬  𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬. 𝐑𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐢𝐬 𝐝𝐞𝐧𝐨𝐭𝐞𝐝 𝐛𝐲 𝐐. 

 𝐑𝐞𝐦𝐚𝐫𝐤𝐬               𝐢)   𝟎 𝐢𝐬 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫. 𝐖𝐞 𝐜𝐚𝐧 𝐰𝐫𝐢𝐭𝐞 𝟎 =
𝟎

𝟏
=

𝟎

𝟐
… … . . 

                                   𝐢𝐢)  𝐄𝐯𝐞𝐫𝐲 𝐧𝐚𝐭𝐮𝐫𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐢𝐬 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫. 𝟏 =
𝟏

𝟏
,    𝟐 =

𝟐

𝟏
   𝐞𝐭𝐜 

                                   𝐢𝐢𝐢)  𝐄𝐯𝐞𝐫𝐲 𝐢𝐧𝐭𝐞𝐠𝐞𝐫 𝐢𝐬 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫. 

                                𝐢𝐯)  
𝟏

𝟎
  𝐢𝐬 𝐧𝐨𝐭 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫. 

 𝐄𝐐𝐔𝐈𝐕𝐀𝐋𝐄𝐍𝐓 𝐑𝐀𝐓𝐈𝐎𝐍𝐀𝐋 𝐍𝐔𝐌𝐁𝐄𝐑𝐒 – 

  
𝟏

𝟐
=

𝟐

𝟒
=

𝟑

𝟔
=  … … … … … … … … … =

𝟏𝟓

𝟑𝟎
  𝐚𝐫𝐞 𝐤𝐧𝐨𝐰𝐧 𝐚𝐬 𝐞𝐪𝐮𝐢𝐯𝐚𝐥𝐞𝐧𝐭 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬. 

 

 𝐒𝐈𝐌𝐏𝐋𝐄𝐒𝐓 𝐅𝐎𝐑𝐌 –  𝐀 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 
𝐚

𝐛
 𝐢𝐬 𝐬𝐚𝐢𝐝 𝐭𝐨 𝐛𝐞 𝐬𝐢𝐦𝐩𝐥𝐞𝐬𝐭 𝐟𝐨𝐫𝐦 𝐨𝐫 𝐥𝐨𝐰𝐞𝐬𝐭 𝐭𝐞𝐫𝐦𝐬 

                                           𝐨𝐫 𝐢𝐫𝐫𝐞𝐝𝐮𝐜𝐢𝐛𝐥𝐞 𝐟𝐨𝐫𝐦, 𝐢𝐟  𝐚 𝐚𝐧𝐝 𝐛 𝐚𝐫𝐞 𝐢𝐧𝐭𝐞𝐠𝐞𝐫𝐬 𝐡𝐚𝐯𝐢𝐧𝐠 𝐧𝐨 𝐜𝐨𝐦𝐦𝐨𝐧 𝐟𝐚𝐜𝐭𝐨𝐫𝐬 
                                           𝐨𝐭𝐡𝐞𝐫 𝐭𝐡𝐚𝐧 𝟏 𝐚𝐧𝐝 𝐛 ≠ 𝟎. 

  𝐅𝐨𝐫 𝐄𝐱𝐚𝐦𝐩𝐥𝐞 −  𝐓𝐡𝐞 𝐬𝐢𝐦𝐩𝐥𝐞𝐬𝐭 𝐟𝐨𝐫𝐦 𝐨𝐟 
𝟔

𝟗
 𝐢𝐬 

𝟐

𝟑
 

 

𝐓𝐰𝐨 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬  
𝐚

𝐛
 𝐚𝐧𝐝 

𝐜

𝐝
 𝐚𝐫𝐞 𝐜𝐚𝐥𝐥𝐞𝐝 𝐞𝐪𝐮𝐚𝐥, 𝐰𝐫𝐢𝐭𝐭𝐞𝐧 𝐚𝐬 

𝐚

𝐛
=

𝐜

𝐝
 , 𝐢𝐟 𝐚𝐧𝐝 𝐨𝐧𝐥𝐲 𝐢𝐟  𝐚𝐝 = 𝐛𝐜. 

 
𝐑𝐄𝐏𝐑𝐄𝐒𝐄𝐍𝐓𝐀𝐓𝐈𝐎𝐍 𝐎𝐅 𝐑𝐀𝐓𝐈𝐎𝐍𝐀𝐋 𝐍𝐔𝐌𝐁𝐄𝐑𝐒 –  𝐄𝐯𝐞𝐫𝐲 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐡𝐚𝐬 𝐛𝐞𝐞𝐧 𝐫𝐞𝐩𝐫𝐞𝐬𝐞𝐧𝐭𝐞𝐝 

 𝐛𝐲 𝐨𝐧𝐞 𝐚𝐧𝐝 𝐨𝐧𝐥𝐲 𝐨𝐧𝐞 𝐩𝐨𝐢𝐧𝐭 𝐨𝐧 𝐭𝐡𝐞 𝐥𝐢𝐧𝐞 𝐥. 

  𝐅𝐨𝐫 𝐄𝐱𝐚𝐦𝐩𝐥𝐞:     
𝟑

𝟒
 

 
                                                                                                    

              𝟎               
𝟏

𝟒
                  

𝟐

𝟒
                   

𝟑

𝟒
                  𝟏 

                                                                                               
IMPORTANT RESULTS 

1)    𝐋𝐞𝐭  𝐚 𝐚𝐧𝐝 𝐛 𝐛𝐞 𝐭𝐰𝐨 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐬𝐮𝐜𝐡 𝐭𝐡𝐚𝐭 𝐚 < 𝑏 

  𝐭𝐡𝐞𝐧  
𝟏

𝟐
(𝐚 + 𝐛) 𝐢𝐬 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐥𝐲𝐢𝐧𝐠 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 𝐚 𝐚𝐧𝐝  𝐛.     

•  𝐅𝐢𝐧𝐝 𝐚 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐥𝐲𝐢𝐧𝐠 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 
𝟏

𝟑
  𝐚𝐧𝐝 

𝟏

𝟐
  . 

 𝐇𝐞𝐫𝐞        𝐚 =
𝟏

𝟑
       𝐚𝐧𝐝     𝐛 =

𝟏

𝟐
 ,    𝐜𝐥𝐞𝐚𝐫𝐥𝐲 𝐚 < 𝑏    

 𝐀 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 𝐥𝐲𝐢𝐧𝐠 𝐛𝐞𝐭𝐰𝐞𝐞𝐧  𝐚 𝐚𝐧𝐝  𝐛   =   
𝟏

𝟐
(𝐚 + 𝐛)   

            

                                              =   
𝟏

𝟐
(

𝟏

𝟑
+

𝟏

𝟐
) 

                                          

                                               =   
𝟏

𝟐
∗

𝟓

𝟔
 

                                          

                                              =    
𝟓

𝟏𝟐
     𝐀𝐧𝐬. 

 
 

 



2)  𝐋𝐞𝐭  𝐚 𝐚𝐧𝐝 𝐛 𝐛𝐞 𝐭𝐰𝐨 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐬𝐮𝐜𝐡 𝐭𝐡𝐚𝐭 𝐚 < 𝑏 , 
         𝐬𝐮𝐩𝐩𝐨𝐬𝐞 𝐰𝐞 𝐰𝐚𝐧𝐭 𝐭𝐨 𝐟𝐢𝐧𝐝 𝐧 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 𝐚 𝐚𝐧𝐝  𝐛.     

 𝐋𝐞𝐭   𝐝 =
𝐛−𝐚

𝐧+𝟏
    𝐭𝐡𝐞𝐧 𝐧 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐥𝐲𝐢𝐧𝐠 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 𝐚 𝐚𝐧𝐝 𝐛 𝐚𝐫𝐞 

 
   (𝐚 + 𝐝), (𝐚 + 𝟐𝐝), (𝐚 + 𝟑𝐝), … … … … … … … … . . (𝐚 + 𝐧𝐝)    

 
                
 𝐓𝐡𝐞𝐫𝐞 𝐚𝐫𝐞 𝐢𝐧𝐟𝐢𝐧𝐢𝐭𝐞𝐥𝐲 𝐦𝐚𝐧𝐲 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 𝐭𝐰𝐨 𝐝𝐢𝐟𝐟𝐞𝐫𝐞𝐧𝐭 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 
 

• 𝐈𝐧𝐬𝐞𝐫𝐭 𝐟𝐢𝐯𝐞 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 𝟐 𝐚𝐧𝐝 𝟑. 
 𝐇𝐞𝐫𝐞,           𝐚 = 𝟐  𝐚𝐧𝐝     𝐛 = 𝟑 ,      𝐜𝐥𝐞𝐚𝐫𝐥𝐲 𝐚 < 𝑏  
 𝐖𝐞 𝐡𝐚𝐯𝐞 𝐭𝐨 𝐟𝐢𝐧𝐝 𝟓 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫𝐬 𝐛𝐞𝐭𝐰𝐞𝐞𝐧 𝟐 𝐚𝐧𝐝 𝟑. 

 

 𝐋𝐞𝐭  𝐝 =
𝟑−𝟐

𝟓+𝟏
 =

𝟏

𝟔
 

  𝐍𝐨𝐰,     𝟏𝐬𝐭 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 (𝐚 + 𝐝) =  ( 𝟐 +
𝟏

𝟔
) =  

𝟏𝟑

𝟔
 

                   𝟐𝐧𝐝 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 (𝐚 + 𝟐𝐝) = (𝟐 + 𝟐 ∗
𝟏

𝟔
) =

𝟕

𝟑
 

                  𝟑𝐫𝐝 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 (𝐚 + 𝟑𝐝) = (𝟐 + 𝟑 ∗
𝟏

𝟔
=

𝟓

𝟐
 

                  𝟒𝐭𝐡 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 (𝐚 + 𝟒𝐝) = (𝟐 + 𝟒 ∗
𝟏

𝟔
) = 

                  𝟓𝐭𝐡 𝐫𝐚𝐭𝐢𝐨𝐧𝐚𝐥 𝐧𝐮𝐦𝐛𝐞𝐫 (𝐚 + 𝟓𝐝) = (𝟐 + 𝟓 ∗
𝟏

𝟔
) =

𝟏𝟕

𝟔
 

 𝐇𝐎𝐌𝐄𝐖𝐎𝐑𝐊 

  𝐄𝐗𝐄𝐑𝐂𝐈𝐒𝐄 −  𝟏. 𝟏 

  𝐐𝐔𝐄𝐒𝐓𝐈𝐎𝐍 𝐍𝐔𝐌𝐁𝐄𝐑𝐒 ∶   𝟐,   𝟒,     𝟔     𝐚𝐧𝐝      𝟗 

 

 

 

                                                                MATHS PRACTICAL 

 

 

 

 

 

 

 

   Points to remember . 

*Read and understand the experiment. 

*In the Maths Practical Copy write down AIM, MATERIAL REQUIRED , METHODOLOGY , TABULAR 

COLUMN and CONCLUSION on the ruled page. DIAGRAM and CALCULATION  on the plane page. 

*Follow the PROCEDURE properly to get the correct conclusion. 

*MATHS PRACTICAL COPY must be a soft cover Lab copy with atleast  50 to 60 pages. 

 



EXPERIMENT NO.   3 

AIM 

To determine the parallelogram with the maximum area , among all  parallelograms with a constant 
perimeter and  a fixed base. 

MATERIALS REQUIRED 

1. Plastic straw 
2. Ruler and pencil 
3. Protractor 

METHODOLOGY 

Area of a parallelogram= Base x height 

Perimeter of a figure= Sum of all the sides. 

PROCEDURE 

Follow all the steps below in order 

Step 1.Fold the given straw and hold the ends together so that a parallelogram is formed. 

Step 2. Place the above made parallelogram on a paper and mark down its vertices. 

Step 3. Join the vertices using ruler and pencil. 

Step 4. Measure its base  , height and one of the angles.Note down the data in the observation table. 

Step 5. Repeat the step 2 , 3 and 4 at least five times with parallelograms with same base but different  
heights . Among these trials include a case of a parallelogram with one angle  90°  ( i.e. Rectangle). 

 

 

 

OBSERVATION TABLE 

Perimeter of the parallelogram = -------- 

 



Trial no. Base  (constant) 
            b 

Height 
    h 

Angle Area 
b.h 

1 
2 
3 
4 
5 

    

CONCLUSION 

It is clear from the observation table that ,among parallelograms with same base and constant 

perimeter 

-----------------------is having maximum area. 

 


